14 W, fiswr w35 . 398 ¥ w AW ¥ T

ﬁ,wﬁsﬁmm@mq@rsonﬁwm.

—ﬁ

The cost of a solid cylinder of radius 14 m and
height 35 m, when the cost of its metal is 7 5

per cubic meter, is:

(1) ¥1,07,800 (1) ¥ 1,07,800
(8) ¥ 1,09,800 (3) 7 1,09,800
" (4) T 1,00,208 4 < 1,00 208
(5) I T & =R o
(5) Not attempted
2. A3 T 38,000 WM W AWK JCH fRw | 5 AR %|2. A started a business investing ¥ 38,000. After
e T 55,000 it ¢t s o B I o T JANR § 5 months, B joined him with a capital of
wufFm I Famy ¢ 22,000 T FA &Y 73 | T 55,000. At the end of the year, the total profit
= d @ St o A 3 B ¥ wm ¥ e — was T 22,000. Which out of the following is the
HEAHR? 7 approximate difference between the shares of
. 9
(1) T1,192 _Pmﬁts of Aand B ?
1) ¥
(2) < 1,857 D hAd
2) ¥
(3) ¥ 1,928 L e
(3) .T1,928
(4) ¥T1,007 @
¥ 1,007
(5) I & & =R
(6) Not attempted
3. IR UH T 20% 9™ W A W, @ FE F § A 8. If an article is sold at 20 percent profit, then
T T 4 Yed 3R fosha o 3 o 2 2 which of the following is the ratio of its cost price
‘(1) 5:6 to its selling price ? ¥
@ 6:5 () 5:6
(3) 11:5 (2) 6:5
(4) 5:11 (3 11:5
(5) I & =R : r (4) '5:1:'1
o (5) ' Not attempted
% U"EF W F ¥ 18,700 ¥ = q;; ﬁ‘lﬂm WTE:: 4. Whena plot iéI sold for ¥ 18,700, the owner loses '
15% 61 7 A2 | 16% @™ e 15%. At what price must the plot be sold in order
i ag? 5 . £ togain 15%?
LoD, T22800, i b o~ T @ 7 22,500
(2 25300 d ' (2) % 25,300
i i ' fi
(3) T 25800 i (3) ¥ 25,800
(4) 21,000 (4) T 21,000
(5) I & M =R (5) Not attempted °
RAMA/D1/Page 2 T w14 % f¥10 ¥ / SPACE FOR ROUGH WORK
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@ Aens wead # |E-iﬁﬁé@mﬁ%aﬁaﬁw

5. : ‘There are three positive mimbers.' One-third "of :
h-foetd, wed o vem @ 8 W R | wEd B den the average of all the three numbers is 8 less
3N gt ged S wem w1 oNwa 8 ¢ | wAd W than the greatést number. The average of the
&I R ? ; smallest and the second smallest number is 8.
ey - 1 What‘ is the greatest number ? .- :

(1) 10
ol @ 11
o @) 14 N S ¢
o o @ 9 - ';'
(6) I A Tﬂgﬁ 3 (5) Not attempted N E
(/13T x ¥216 + ¥720 + ¥6a) wua d : - (Y1331 x 9216 + Y729 + Y64 ) is equal to : *;
L 79 G T 1 79 G g : ’
(2) 14-82 (2) 14-82
(3) 90-88 (3) 90-88
T (4 1362 . 4) 1362 :
_ (5;; IO TE T =R (56) Not attempted

RS e S e e he
W@ﬁg:g.'.!'ﬁ 7%%‘*3@% ratx% ;i%% Whatistheminimum
? | 3% vw FAAEn T ‘Fmﬂ' aft =i, amount he should have, so that each labourer
ﬁlﬂﬂmm“ﬁtﬁmﬁmmﬁ’ getsanexactnumberofrupees"

(1) T 420 (1) T420° : _
@ <512 (2 512 : 3 el Ll
3) ¥ 599 (8) ¥ 509 |
(4) <358 & 4) T 358
&) qﬁhm (5)_. Not attempted ' 1

8, af A # 3, B £ 4 A 10% m‘éﬁm B # _IftheinconieofAis 10% more than tﬂatofB ﬂnd1
am, C £ 3 A 20% W% a’ta'mr A, B @ C themcomeofBlszﬂ% less thanthatofC then
okt e o 0. B 1 . ey,
1) 22:20:25 Y 22_:20;25 o g e
@2 10:9:7 . (2) 10:9:7 v 4
(3) 22:18:25 (3) 22:18:25
(4) 11:10:8 (4) 11:10:8

() swTE 3 <Ed iim -(.5) Not attempted |
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The traffic lights at three different signal poin

. T% &4 & foTQ T / SPACE FOR ROUGH WoRK

9. oW faftm e weew, S A fftw R figait 9. ds, 75
ot &, s 45 e, 75 e aw 00 Ade Haxg| - change after every 45 seconds, 15 seconds a
e @ # | 3R T® it THE™ 7 ;20 : 1 02 .90 seconds respectively. If all chan,
o o 5 9T simultaneously at 7 : 20 : 15 hours, then they wi
qeeAdt A TR T fram =9t s @19 st 2 next change again simultaneously at :
(W) . 7:27:45% (1) 7:27:45hours
@) _7:27:30@ (2) 7:27:30hours
3) 7: 27:._50‘6.:% ~ (3) 7:27:50hours
(4) 7:28:00%2 (4) 7:28.:00 hours
- @ ST TE 1 9Ed | (5) . Not attempted
10. a’rﬁwaﬁ%m_;ﬁ%—cws’émmmmm 10. The sum- of two numbers is 45 and thei
gal w8 | HEEai k2 LCM?2: difference is one- J:u.nth of the sum. Then thei
S (@) 150 i : LCM is :
(2) 200 (1) . 150
(3) 250 - @ 200
4) 100 @ 250
(5) m#ﬁmﬂmﬁ o T
(6) Not attempted.
11. aﬁ;wsaﬂum%aﬁty,x%mﬁaﬁﬁﬁsﬁtﬁ L o e A :
| g et R i 11. If x is a 3-digit number and y is a numbe
b . ae e Y. obtained by permuting the digits of x in anj
3 ferfora €t manner, then (x —y) is always divisible by : -
(1) 6% 1 6
2 9% @ 9
3 12% (3 12
@ 43 . 4) 4
R v (5) ¢ Not attempted
| ’ 12, The closest appromma.t:mn of the follo
;2. ﬁnm ; product e
g 03333x025x0499x0125x24 03333x025x049
9
Wﬁwm% is : #?125 gy
3 . ; 3
1) = )
L . (1)._\ = . 2
3 3 |
2 = =
3 ey
. _
@ 2 ® 2
5 5 ¥
1 ' 1
4 = =t
) = 4) 8 .
(6) e A T =E (5) Not aftena'pted_ : :
RAMAD1/Page4 | 7
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18. UF uAUR wwer s W7 q6 6 g @ S R

- (3) 104

= 126 sf Rrcim w7 135 R Freom =@

/

T8 fra @l % =m 7 @) ot 2
(1 219§

(2) 38ad

@) 4274

(4) 1894

(5) I T ¥ =

14, T I AN uE wew fra woged w1 o w5
40 R H W o § e v agd QB

T I 8 : 5 R | AR wH A T H
ﬁﬂmm,?hazwwﬁﬁﬁwﬁﬁﬁﬁww
qreT ?

(1) e8f
2 8of&

(4) s52f&
(5) ITT &l &1 =rEd

ﬁmah@?ﬁaﬂmaﬁmﬁ 1:1:2 &

agara # femn | afg firawr 1 qew @ 153 wfd
freimm 2, @ d1ad TR i =5 vfd e 5w

13. A sum of money at simple interest doubles in

15.

14.

7 years. It will become four times in :
(1) . 21 years
(2) 38 years
(8) 42 years
(4) 18 years

(5) Not attempted

A man and a boy together can do a certain
amount of digging in 40 days. Their speeds in

" digging are in the ratio 8 : 5. How many days will

the boy take to complete the work if engaged

alone ?

(1) 68days
(2) 80days
(3) 104 days
(4) 52days

(5) Not attempted

Tea worth ¥ 126 per kg and ¥ 135 per kg are
mixed with a third variety of tea in the ratio
1:1:2. If the mixture is worth ¥ 153 per kg, the
price of the third variety per kg is :

LE (1) 717000
-00
fp. el @ 17550
7550
(2.) oy (3) ¥ 180-00
z 180-00
2 (4) T 16950
. (4) 16950
) (6) Not attempted
() Iwed T |
-.._______,__.-—-—-"'__
- RAMA/D1/Page 5 T T4 & forg Trm / SPACE FOR ROUGH WORK T
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X wing plastics is used for m:
Frefefga 3 @ fre fRs +1 o fseht 3 farg |16, Which of the following p
16. electrical switches ?
T & fore frar s & 2 o
_ 1)
(1) <t
(2) Bakelite
2
(2) WFee " (3) Teflon
@ v (4) Polythene
(4)  iicrei (5) Not attempted
(5) IR TE & =R
17. What was the slogan of the ‘Patient Safety D
1 _:;ff:?t 2022 = SEhfw o v w0 which was observed on 17th September 2022 ?
| (1) “Meditation Replaces Medication”
(1) “Tar i s wqE” :
' o g (2) “Medication Without Harm”
(2) A THEH
(3) “Health With Yoga”
1 3 -
@) e % g (4) “Health Without Medication”
€ ; |
@ “wwe, fm (6)  Not attempted
(6) I 7€ M =mER
i & 18. What is the name of the plant group whose
18. 39 diy & T 2, Prmd WY Efish £ EFORE
& Bk ? '@!ﬁﬁtﬂ& e & ‘plants bear naked seeds and are usually
TG, FER o F 7. perennial, evergreen and woody ?
(1) et - (D Angiosperms
2 MSrEer (2) Pteridophyta
(3) FHIGE (8) Bryophyta
@ e @ Gymnosperms
(5) T T4 i:n m (5) Not attempted
19.  sffirs & wwa 3 ad 1900 ¥ A 2020 T fa(19. In Olympics, India hag won the maximum
vl 3§ watfe et v o § 2 - aumber of Gold Medals upger which category
O W since 1900 to 2020 2
@) yEah ' Hockey
(2) Boxin
@) Fwh ; 8
@ Frevewh - o
@) Shooting
6) =
T T = 5) _Not attempgeg
1/Page 6 T w14 % vy cum ) space FOR ROUGH work
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20. Freaferfm # @ s e qfw R sTeiRT

21.

20. Which one of the following statements is correct

FARAa@ 0 about Uniform Resource Identifier (URI) ?
1) 3I= EL] R Iy YAH GEET & ﬁ"fq Th i['fﬁ’? (1) It is a unique address or path for each
(rfeedia) o s ag @ 1, ‘resource located on the web. '
(2) . ¥’ Feah ¥ ¥ g v HE I 2 | (2) It is a unique value associated with a
@) | lﬁﬂiﬁ Q’?{G % . e Yoad F yAF network adapter. ‘
| 1S i o=y Tl & vEEE W HEAT R | (3) It is a unique address that can be used to
) u® i = " W * fvas 7 uniquely identify each node in a network.
EECES @%ﬁﬁmmmmt | (4) It is a set of rules which is used to retrieve
(6) I T 3 e linked web pages across the web.ﬁ
(5) Not attempted
e, TR o A g A Feed sew £ 2
i e : g 21. Google, Bing and Yahoo are examples of _______
(1) WeEEa T
5 (1) Mobile Applications
(2) WHREIR
. (2) Software
(3) BT
; (3) Firewalls
(4) @39 . .
LN . (4) Search Engines
5) I '
®) o (56) Not attempted
2. Pefafes & & @ ghfm EF{:IT & 1% serew & s 22. Which of the following is used to ensure accuracy
i (3%) an faaerdia § 2 and reliability of data in the database ?
(1) SREE FA L (1) - Database Constraint
@ = fermd (2)° Data Dictionary
@) erEE TR (3) Database Instance
(4) e EhE (4) Database Schema
(5) I & =R ). - Not sttempted
fr=fafaa # { HA-H TR R ? : 23. Which of the following is the correct sequence ?
(1) #mmErse > fdiEe > rere > fmmare (1) Megabyte > Kilobyte > Terabyte > Gigabyte
@) veamarse > feEe > duae > frmewe (2) Exabyte > Petabyte > Terabyte > Gigabyte
@) fremme > SerETe > e _"m (8) Petabyte > Zettabyte > Gigabyte > Terabyte
4) freEnEe > fierage > demETEe > T (4) Kilobyte > Petabyte > Yottabyte > Megabyte
(5) IR ¥ < (5) Not attempted

& RAma/D1/Page 7
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24,  WRA % wfagE #§ @Y W F GEy 3§ Profyfad §|24.  Which among the following statements is/are
AFRaE s R 2R ? correct with regard? to the amendment of the
. . Constitution
(a) WE H WA NI 9 Bigw df & e | Indian
s 9 G 6 R | O et st B PAEE T
(b) wfum svE fdes Saw o a9 A & dm A Constitutional Amendment Bill can onl
o s v R o ntroduced in the Lok Sabh 1
be introduced in the abha,
(c) wfeum @M fatgs & oifte fvu I & @@ (¢) The Constitutional Amendment Bill once
Tgafa & armia F sawsa A R | passed needs the assent of the President.
Hi= Ry T FR | wE fawen w1 v zﬁﬁ'q Choose the correct option from the codes given
1) aﬁﬁ (b) below :
2) HEA (1) Only (b)
23; (a) aﬂ(:)(b) ) Only )
(4) (a)and (c)
(5) Ie TE M = (5) Not attempted
2. R "%”g"ﬁ 3 W 2 o s W hd %ﬁ 25. Which among the following countries would be an
& _ example of ‘coming together’ federation ?
(a) W (a) India
(b) WY T SR ‘() USA.
(© fem (¢) Australia
@ ¥ @ Spain :
ﬁmmﬁﬂaﬂﬁmmwﬁﬁq - Choose the correct option ﬁ‘om theoodeaﬂgwen
(1) (b)3R (c) below : g ik
> W Xy
a) and (c
:j; E:; ﬁ ::)) - (3) (b)and (d)
(4) (a)and (b)
(8) I A 2 <TE N Gi - (5) Not attempted
26. afufRAfe wRa ¥ 3OS g # 26. 7 Which amon
: g the following was/were feature(s) of
mmﬂﬁ, A g e (¥) ﬁ'ﬁlﬁ!f@'d ‘Subsidiary Alliance’, a Byatem devised b}r the
A British in colonial Indla 4
(a) TR TS I gl ﬂ? | o (a) It was devised by Lord Wellesley.
(b) mﬁ ¥ 8 § T few s (b) A British army contingent was to be
| : stationed in the territory of the ally.
(¢) weanft vy foreft 1= WEw F Gy HI§ G 7@ (¢) The ally could never get into agreements
FGHT | ' with any other rulers.
@ TRy wwind va € Faw i a4 (d) f’I'rhe British were to protect the ally only
T FHa | om the internal threats to power.
A3 R e gz A W Rreey F1 T HIRT 2 Eh]'“f'se the correct Optmn from the codes given
elow : i
(1) (a) 3 (b) (1) (a)and (b)
8 upn AT
a % (a) and (d)
(4) a4 (b) (4)  Only (b)
(5) 3w &l 21 =R (5) Not attempted D
1% W & 1 TUT / SPACE FOR ROUGH WORK
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27.

o e et #, R A i A A
w1 R qun ww @ gff @6 g el A e w@ g,
@ Hger i T e RE 2 '-
1) w|m

(2). smftafda @&m

(3) rffea @m

(4) wam

(5) IR T 0 9TE

T 8 % suEw (\ﬁ.wf.):ﬁ’sﬁﬁﬁ% ’Fh

I B AT €9 Y A w2
() faRdw | ‘
(2) i

(3) wggwfiE

ORI ' <l
(5) I T ¥ =

~

127.

28.

29.

. (4)

In a Market Equilibrium figure, if the Demand
curve shifts leftward and the Supply curve shifts -
‘rightward simultaneously, what is the impact on
Equilibrium price ? :

(1)
2
(3?'

Increases

Remains constant
‘Remains undecided
Decreases

(5) Not attemptéd

Selling off a part of the equity of a Public Sector
Enterprise (PSE) to the public is called )

(1)
(2) .
3)
(4)
(5)

Dlsmvestment
Deli lm.ltahon
Communisation
Nationalization
N ot attempted

India’s first nationalist art school was estabhshed'_

“in which University in 1919 ?

29. YWRA F YgA uganﬁt el ﬁﬂrm a¥ 1919 ﬁ ﬁ?a (1) - Visva-Bharati University
. Tovafrarem # onfta R mam o 2 (2) Banaras Hindu University
a fva-uTet favafenea (8) Allahabad University
@) ﬁiﬁ- o (4) . Aligarh Muslim University-
] : . (5) Not attempted
(3) soerarg favafaae™ : .
= ' . Which of the following waterways has b :
30. : . g ays S been_
@ arefig gieaw favafaene declared by the Government as the National
. (5) I &l o =mEd Waterways N.W. No. 2 ?
' (1) The Brahmaputra river between Sadiya

MF: ﬂﬁﬁ-‘iﬁiﬂ Wf'ﬁ ﬁ -a ﬁ;g Wf 'qﬁ m g and Dhubri (891 km) .

g W Sremmt g 2% 9 4 Uit for @ 2 (2) The West-Coast canal in Kerala

E . oI % e T (891 Feh.) (Kott.apuram - Kollam, Udyogamandal and
e afean Sy Champakkara Canals — 205 km)

- @ Ly i A ; T, AR (BT - % (3) . Specified Stretches of \.G-Qdavaﬁ and

e FeinHed 9 S99 T8 ~ 205 f6.H) Keishn .

- A a rivers along with
@) FHmE-IgEt T Re F wewy el Kakinada — Puducherry Stretch of Canals
L v g At F fRide s (1078 f6f.) (1078 km) | ?
(4) TAEER st g '3'6 Y T :ﬁﬂ (4) The Ganga river between Allahabad and
(1620 f5.#1.) Haldia (1620 km) W
) g ARl & =Ed (5) Not attempted i
'-'MMNDﬂPage 9. % %74 ¥ foTg T | SPACE FOR ROUGH WORK
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31.

32.

WWﬁHﬂ'ﬂ?W%
1 3w &
@ @

(3) & .

@) T

(5) ST & & =R

mﬁﬁﬁﬁﬁmﬁ;mmg.:
(1) . R ! 75, 3 anan |

(2) =& &, W,WWWW% I I

35.

S oafts o 7 @ A & R R e

$ifa |

@) e

(2) 3w
(3) . I
(4) ¥
(5) I A 0 e

-(3>,mmmﬂmmmm[ SV i g
(@) G, i, W — mmmmmml _'..{'(2) fem
(6) I T T (3 witfy
T4 _ @ wh
33. ‘P i e 33 4 g | (6) I &
T R R o ‘33’ # ﬂﬁﬁ'%waﬁhm :
(2) dieEr IR ;
' ; | (2) smafies
.;4) a:ﬁiamém. i wﬁw
(5) I Tl & = _ - ‘
o $ o B I
34. ﬁl{ﬂqﬁmmﬁ‘mﬂ’waﬂgﬁﬁmﬁnﬁmw T
?? P | \ Y sk
Q) = H sz ‘m#mﬁﬂéﬁﬁﬁmﬁn: ¥
(2) = W mHfugy |
@ T™ @ ARy
@ wEw @) F9RA o
- (5) W?ﬁhiﬂﬁ% ‘_(4) “"“"an' L
Ao T (6) W
RAMA/D1/Page 10 mwﬁ%ﬁqusmce FOR nouc,-;:'j:,-_::,T,{ins%’r
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89, T’ FN-T FIM Y2 R N A GF R M PAoaeh (43, S F ___ aga vfi ¥ g F e wum F Rig

e e W= Wl e Pt 1 AT |

{ al (1) it

(2) AN

@ 3 (2 #=d

@ *# B G

(5) IO 7@l & WA . : @ A

. (5) I TE 1 =T

40. ‘HTE-URE 1 YH AT e H e

(1) wgd Irwet g

(2) ga HEd @ ; -
} i S T 4 44. memﬁw%ﬂmmm
| - BB ? x

(4) wgd TR |

(5) I T TR e (1) gEERAISNIS TR

@) Iz frare 3 @ fg woe R fres T |

41, I F UTE TS A 3 AT AR IASHE )

() i 3R Br : L @ Bamam I
(2) al 3 fRa A el m
(8) = 3 farstym AN .
(4) v 3k g
(5) IeR AEl & =
45. 3 TfY &1 IgEw 777 R
- ' g (1) :
42. ﬁqﬁmﬂaﬁﬁmmﬁmﬁﬁml .
M wE : (2) TRy
@ @ W
@) wa | _ . W ‘
4) <@ :
& W (5) IR TH & <A ,.»
- RAMA/D1/Page 11 - T% wd % foru Tu / SPACE FOR ROUGH WORK ‘\\_
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486.

47.

" (4)

Choose the correct passive voice form of the
following sentence. ¢

Sheetal will have finished the work.

(1) The work will be finished by Sheetal.

(2) The work will have been finished by
Sheetal.

Sheetal will finish the work in due time.
The work is finished by Sheetal.
Not attempted

(3)

(5)

Rearrange the following parts of a sentence
labelled as PQRS to make -a meaningful
sentence.

P. deedsistobe

Q. on to the future

50.

51.

Choose the alternative which beéﬁ: expresses the
meaning of the underlined idiom.
Her speech is always full of tall stories.

1)
(2)
3)
(4)
(5)

heroic stories
exaggerated tales
realistic stories
long tales

Not attempted

In the following question, out of the four
alternatives, choose the one which can be
substituted for the given sentence.

“An apartment building in which each apartment
is owned separately by the people living in it, but

R. the power of noble »
ining shared areas.
S. preserved and passed SI5 ponisIHng 8 e
(1) SQPR - (1) Multiplex
(2) PQSR " (2) Duplex
(3 RPSQ (3) Caravan
o BSQ. 3 (4) Condominium
5) Not attempte
® bl 1o (5) Not attempted
48. Pick out th tly spelt word.
f:)c 0; 5 e 52. Choose the word which is opposite in meaning to
ST the word underlined.
(2) Outragous :
(8) Outrajious “Earthquakes are frequent in Japan.”
(4) Outregeous (1) unusual
(5) Not attempted (2) few
49. Pick out the part of the sentence which has an ®) Ea s
error. If there is no error, your answer is (4). (4) extinct
The simplest method (5) Not attempted
A
of welding two pieces of metal together 53. Choose the word which is opposite in meaning 0
B the word underlined.
is known as pressure welding. “She is slender in figure.”
C (1) frail
(1)35B @) '
stout
(2 A
(3) (o) (3) slim
(4) No error (4)  strong
(5) Not attempted (6) Not attempted o
RAMA/D1/Page 12 T T4 % {70 29T / SPACE FOR ROUGH WORK
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5 '
" Read the following passage carefully and answer
questions 54, 55 and 56.

_:' India is one of the oldest civilizations of the world,
-5-,~ which offers a kaleidoscope of cultural experiences. The
j;L' country has a rich heritage and numerous attractions.
It stretches from the snow-capped Himalayan peaks to
- the tropical rain forests of the south covering
32,872,263 square kilometers. It is the world’s seventh
: largest country, distinguished from the rest of Asia by
 mountains and the sea which gives the country a
~ distinct geographical identity. India showcases a
~ variety of heritage resources crafted hundreds of years
~ ago from huge heritage sites to pristine sea-beaches.
" Tourism contributes to substantial economic, social,
3 cultural, educational and political development that
f generates both direct and indirect employment.

54. Find out a word from the above passage which
3 means ‘a country’s history, traditions and culture
etc’.

(1) Theritage

(2) pristine

(3) attractions

(4) identity

(56) Not attempted

55. Tourism as an industry also contributes to our
country’s :
(1) agriculture and religion.
(2) education and employment.
(3) religion and statistics.
(4) population and employmeﬁt.
(5) Not attempted

57. Choose the most appropriate preposition to fill in

the blank.

She succeeded dint of perseverance and
hard work.

(1) from

(2) by

(3) to

(4) for

(5) Not attempted

58. Fill in the blank with the appropriate option
_given below.

The Battle of Waterloo was won of
Eton.

(1) on the playing fields
(2) for play fielded :
(3) in the played

(4) with the play field
(5) Not attempted

59. Pick out the correct indirect speech form of the
following sentence.

“I have bought a house,” he said.

(1) He said that he has bought a house.

(2) He said that he bought a house.

(3) He said that he would buy a house.

(4) He said that he had bought a house.

(5) Not attempted ’

60. The old man is looking forward the

58. Besides the world’s oldest civilizations, India is visits of his grandchildren.
' also the world’s largest country. .
(1) in

(1) fifth i) i

(2) tenth o !

(3) seventh il

(4) third (4) for
'—__ (6) Not attempted (5) Not attempted

RAMNDHPage 13
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61. WEdR =% R W - fhodl 7@q TR F1|61.  What is the One Time Cash Award for Mahavir
geER oA ST R 2 Chakra Awardee ? '
(1) ¥ 1,00,00,000 (1) 7 1,00,00,000
(2) T 4,00,00,000 (2) T 4,00,00,000
(3) < 6,00,00,000 . (3) ¥ 6,00,00,000
(4) ¥ 2,00,00,000 (4) - % 2,00,00,000
(5) ~ IO TE &1 IR - (5) Not attempted
62. e wex 1 ‘ghron R e st & 2 62. Which city is known as the Heart of Haryana' ?
1) iR : (1) Jind °
(2) g (TEm) (2) Gurgaon (Gurugram)
(3) g (3) Panchkula -
(4) _ i@ | 4) - Ambala
(5) I TG <A =Ed (5) Not attempted
63. &R = Uy ysf w R 2 63. ‘What is the State Bird of Haryana ?
1) ke , : (1) Great Egret
(2) Wit uedt (gfim =€) (2) Humming Bird
(8) wren e : ~ (3) Black Francolin
(4) W T : (4) House Sparrow
(5) I AE AR _ (5) Not attempted
64. ehamn i SEEy 64. _The cli:ixate of Haryana is :
(1) 3= shawfia gHR : (1) Sub-Humid Temperate type
@) wwhy g TR T (2)  Sub-Tropical Dry Continental type
(3) T g YER : (3) Sub-Humid Sub-Tropical type
(4) TERHE YHR . ' (4) Continental type
(5) IR el 1 9@ g ; (5) I.\Tot attempted .
65 Mﬁﬁaﬁaﬁﬁf&ﬁ%’ 65. = Where is the Blue Bird lake located in Haryana ?
' : (1) Jind
v iﬁam = (2) Fl:ridabad
: o e o (8) Karnal
' (6) Not attempted
(5) Ier € &A1 <TEd ¥
' : 66. Which district of Haryana receives the highest
66. m%ﬁmﬁaﬁmﬁaﬁ'@?ﬁt? i
CL) e (1) Ambala
@) Fea (2) Kurukshetra
@) PEr ' ~ (3). Bhiwani
@ femw (4) Hisar
(5) < T e th] (5) Not attempted
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67.

68.

@

(5)

"mmﬁm-miﬁﬁg?.
S ; o ’
(2)

e
8) Fusw

@) W@

®) aﬁtaﬁémars% i :
mﬁmmmmﬁmﬁgv
(1) 107, 2005

7 37T, 1998
149w, 1966
17 5ad, 1955
I TE & =R

®)
@

3

s Gt T st 1904 ¥ srem X %

67.

@

- (5)

 Where i Baba Ladaana Tirth Sthal situsted ?

Jind

'_Ambéla

‘Kaithal . gl
Rewari ’ I
Not attempted

(1)
(2)
(3
4)
(5)
When was the first permanent Lok Adalat set up"
in Haryana ? :

(1) 10" May, 2005

(2) 7th August, 1998
1°* November, 1966

17%h January, 1955
Not attempted

@)

-

Which of the following committees is no#

69. 69.
' Fien Frefafas #§ @ S afify der Gﬁlf?r G| -~ appointed by the Panchayat Samiti according to
Fgw 77 it 2. i Chapter X of the Haryana Panchayati Raj Act,
'? H
1) wm= Ry 1o
= g P (1) General Committee
(2) @Ry UE FHegw anfy e L T s
e and Welfare Committee
(3 fam, émwﬂm(mﬁ%z)qamaﬁlﬁﬂ‘f G : T
‘ ; (8) ' Finance, Audit and Planning Committees
(4) ~ |rf = ginfd (4)  Social Justice Committee
(5) S A (8) Not attempted
70. wem Iﬁf&q Ty gfEmn % fred % s A @ 70. Match the ancient names of the dlstrlcts in
Yem 113 fw o o qdgE A @ gi?rﬁ‘-m Hfr ; - Haryana given in Column I with their. present
% ] il names in Column II :
FicTH HicTH 11 .
I ; , Column I Column. IT
L aEds a. R . s 2 LT
I Sairishaka a Sirsa
II. e b. - Fud :
S iy II. Kanoud b.  Kaithal
I fege - c. M@ b : .
: i III.  Kapisthal ¢ Panipat
Sl e 4. W IV. Panduprastha = d.  Mahendragarh
@ Ia; I-4; 1M-b; IV O 16 T ot Vec :
A2) - I-d; II-a; III-b; IV— (2) I-d; Il-a; III-b; IV—c
(3) I-¢; II-b; III-a; IV-d (8) I-c; II-b; III-a; IV—d
(4) I-b; II—; III-d; IV-a (4) I-<b; II-¢; III-d; IV-a
(5) IR &l &A1 =R (5) Not attempted
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71.

72.

74.

frferRea et T e Hifvr :
@ =, g Ao EER )

(b) Wiet % 7@ €9 B A b T ¥ oft S0 S

2
I A @ B-a/d T T R/E 7
(1) Fad (b)
@ (@wW®a .
@ @@OAARETE
(4) -9 (a) _ : _
(5) 3T T & = \

s&mmﬁmas@asﬁamﬁﬁwaﬁﬁmw .

o1 ?
(1)
(2)
(3)
(4)
(5)

a4 1947 #
a4 1950 ®
aq 1974 °
a§-1940 #
e T & 9Ed

1770 3. ﬁasnaaqermaﬁrqaj%aﬁm
Teitaere o fiem 2

(1) fem @A

(2) 96 @H

(3) weresh faftan

(4) STEAT TE QT

(5) IR TE &1 =&

sﬁummmmﬁmﬁmﬂtqﬁ%ﬁﬁmﬁaﬁ

o —

1.

72:

73.

®

®

- (4)
- ®

—————

Consider the following statements :*
(a) ‘ Chope is a style of shawl manufactured in"
Haryana.

' (b) This shawl style is also known as Phulkan

Which of the statements given above is/are
correct ?

(1) Only (b)

(2) Both (a) and (b)

(8) Neither (a) or (b)

(4) Only (a)

Not attempted

When was the famous Badkhal lake of Haryana

. developed ?

In 1947
In 1950
In 1974
In 1940
Not attempted

(1)
@
@)
(5)

After the death of Najib-ad- Dawlah in 1770 AD,

who ascended his throne ?

(1) ' Jabit Khan i
(2) Najaf Khan

(3) - Mahadji Scindia

Ahmad Shah Abdali

Not attempted

" ‘Whl(:h dance form of I-Ia.ryana is ded:cabed to

27 "’ Shiva and Parvati ?
(1) wra g (1) Lasya Dance
@) w3 ) Ritwai Dance _

@ TR (3) . Gangor Dance °
(] " HaEn © (4) Manjira Dance
(5) I el A AT “ “(5)  Not &ttemp'ted

75, B ImEo Aienail gr FEl TEA S @ ? 75. Where is the Chhaj ornament worn by women ?
(V). 7 | D ek, .
(2) 7™ @)’ Hand
Ei; W' (3) Waist
" , @ F
(5) IMATAE 5 .N:?:::i
: pted /
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':s. sf@n anfife wdaw, 2021 — 22 % IFFur ghawn i

e | e a——

(3

Wﬁﬁﬁﬁmmﬁa HINTIR & ?
(1 22
(2) 23
24
25

(4) :
IR & &A1 = TE

(5)

ahon # it Ay g T wee e (NBHM)
o 1 JeTT o o F 7§ 2

(1) 2018 '

(2) 2019

(3) 2017

(4) 2020

(5) S TE I e

‘qmnfa,mnfa’ﬁa#%wfamaﬂzozﬁm
Toraa nifal w ST TR ?

76.

(1)

77.

78.

How many.District Level Treasuries are there in
Haryana according to the Haryana Economic
Survey, 2021 - 22 ?

22
23
24
25
Not attempted

(2)
(3)
(4)
(5

National Beekeeping and Honey Mission
(NBHM) Scheme was started in which year in
Haryana ? . ’

(1) 2018

(2) 2019

3) 2017

(4) 2020

(5) Not attempted

How many villages have been associated with
‘Mhara Gaon, Jagmag Gaon’ Scheme till January

20227

(1) 5,569
(2) 4,806 (1) 5,569
(3) 3,560 (2) 4,806
(4) 3,216 (8) 8,560
(5) IR T M =Ed (4) 8,216
79, . gham & g IR A g e 2021 | D Netattempten
fraft 2 2 79. What is the total number of electricity consumers
in Haryana till 2021 - 22 ?
() 781748 (1) 71,17,384
2) 172,17,283 @) 172,17,283
(8) 173,07,992 (3) 173,07,992
(4) 68,57,609 (4) 68,57,609.
(5) e E o ﬂﬁa (5) Not attempted
80. gfamn Tew TR F forefra-ad 2022 - 23 & e 80. What is the percentage of the total expenditure
1 R i fn ¥ & # =9 &g Puffa B allocated towards Education in Haryana State
™R ? Budget for the financial year 2022 — 23 ?
1) 164% (1) 16-4%
(2 142% (2) 142%
(8) 152% (3) 162%
4) 182% 4) 182%
L () IW a8 = e _ (6) Not attempted
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81.

82.

85,

wr T st et (Tga) F g e o
g3 ?

(1) 2018

(2) 2016

(3) 2017

(4) 2019

(5) IO E & =R

frefiaa & A g % fre safee 9 @ F &

4 2022 T R T weE R 2

(1) ghm it
(2) s g
) Fau= faw
(4) wdu fiw
(5) I T AR

Rt @ gt sifoe wfamn & fee oia & dew
wdt & 2 :

(1) W=

(2) was

3) wE™
(4) IF

5) I

2010 # frw T = ghan A gl TE W gl
feam w2 ; '
1 K

(2) YrEt

(3) wfamw

(4) st _

(5) a7 1 =Ed

2015 1 fichtsr 1 7 Frw efamrE feem = 3wl
YR g famg T ?

(1) =fg g&i

(2) e

(3) I W

(4) A

(5) IR TE & <TEd

81.

In which year was SAI National Boxing Academy
(Rohtak) inaugurated ? -
(1) 2018

(2) 2016

@ 2017
(4) 2019
(5) Not attempted

.. Which among the following personalities from

Haryana received the Padma Shri award in 2022

. in the field of sports ?

(1) Sumit Antil

(2) Bajrang Punia
(3) Yuvraj Singh
(4) Sandeep Singh
(5) Not attempted

Sportsperson Seema Punia Antil hails from
which village in Haryana ?

(1) Khandra

(2) Khewda

(3) Kaluwas

(4) Ujhana
. (6) Not attempted

Which language was accorded the status of th

second official language in Haryana in 2010 ?
(1) Urdu

(2) Punjabi

@) Haryanﬁ

- (4) English

(5) Not attempted

Which Haryanvi film released in 2015 receive
two National Awards ?

(1) Chand Chakori

(2) Pagdi

() Veer Ghatotkach

(4)  Beera Shera

(5) Not attempted
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- 86, T FHE F A I frewd R e ¥ | amrem: @
avdl & firs B g oft Fori B T TR e 7w fil
Hife & aifhs w7 ¥ S/ frepd Ry Mo woe

e B

# fawer € |

PFYT:  FO R T E |
FO FeR e § |
ooft I et € |

Fey: (1) ToReFRE )

(1
(2)
(3)
(4)
(5)

87. Fr=fafan dears Jaen 3§ y@ fag () $ @A W

(II) F® FR 999 £ |
(III) FoTa <R & |

Faa 11 R 111 Frerera &
Fae 1 3 I11 Frewera &

ot 1, 11 3 111 Fremera €
e 1 3R 11 Frererd &

I G T =ATEd

%l

Three statements are followed by three
conclusions. Take the statements to be true even
if they seem to be at variance from the commonly
known facts. Decide which of the given
conclusions logically follow from the given

. statements.
Statements :  Some plates are spoons.
Some bowls are plates.
All spoons are bowls.

Conclusions : (I) Some plates are bowls.
(II)  Some bowls are spoons.
(ITI) Some spoons are plates.

(1) Only II and III follow
(2) Only I and III follow
(8) AllL, II and III follow
(4) Only I and II follow
(5) Not attempted

Which number will come in place of the question

F-dt g@n et ? 87.
97 216,729, ? , 3375 mark (?) in the following numerical series ?
(1) 1728 = 27,216,729, _? , 3375
(2) 1500 (1) 1728
: (2) 1500
(3) 20736 .
(3) 20736
(4) 1729 " 99
B SuCSEE : (5) Not attempted
88. Feifien ¥ firm v -1 § 2 88. Find the odd term out.
5, 15, 20, 24, 25 5, 15, 20, 24, 25
1) 20 (1 20
(2) 24 (2 24
(3) 25 (8 25
4) 15 (4) 15
(5) e @l &1 9TEd (5) Not attempted
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89. afe ot g2 W # ‘over and above’ # ‘da pa ta’

91.

3R ‘old and beautiful’ 1 ‘sa na pa’ feran st 3

At 3¢t 2z W # ‘and’ W fFw www fRran smem ?
(1) pa
(2) ta
(3) na

da

(4)
(5)

fm 9 %1 var Tmse S erem ol & Sfea fear

R
(1) TUNE:ETNU
(2) MORE : ERMO
(8) PLAY:YPAL
HOPE : EHPO

IO TET &1 =

4)

(5)

T F T F AW W 100 FHA H FUN HETH
SiFae faafa frr 9@ 4 | 98 Faa 70 F= |
Siraz faafta & g qifh IS 9 B 3 dihoie

i e @ | R % R $a fea afeer

g9. In a certain code language ‘over and above’ is

91.

written as ‘da pa ta’ and ‘old and beautiful’ is
written as ‘sa na pa’. How is ‘and’ written in that

code language ?

(1) pa

(2 ta

(3

na

(4) da

(5) Not attempted

Find the odd one out which is coded differently.

(1 TUNE:ETNU

(20 MORE : ERMO

(3) PLAY:YPAL

(4) HOPE : EHPO

(6) Not attempted

On Ajéy's birthday, chocolates. were to be

distributed equally among 100 children. He could
distribute to 70 children only so that each child
got 3 chocolates extra. How many tot-’l?

Iy & 2 chocolates were available fpr distribution ? 5
1) 210 (1) 210
(2 900 (2) 900
(3) 300 (3) 300
4 1700 4) 700
(5) T E e =R (6) Not attempted
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93.

@

95.

e R S e g,

®

3

ﬁn%ﬁmﬁﬁaqamfm"lﬁml

1) g - g

(2) 37 — iy

@) % -dEn

(4)  wmET - FHl

I AE T =R

W HE FEr P we iR R sEER e 9
m@ammﬂ@mmmmaﬁi

G NAEHTR
1 2 3 45 6

53,21,4,6
5,3,1,2, 6, 4
3,5,6,2,4,1
4) 5,31:24,6
(5) I T 3 =

@ ¥R ‘ANGLES’ #1 &4 ‘GNASEL’ ¥ &, :ﬂﬂ
YR ‘SQUARE’ &1 §aY ﬁmﬂ B ?

(1) UQSARE '

(2) USQERA

UQSREA

(4) UQSERA

(5) I T T =R

ﬁmm‘BLUN'I"mm'lBuh'ﬂi zd’rm
‘SHARP' &1 gay fored iﬁn ?

(1) PraHs
(2) hSaPr
(3) AhSpR
(4) HspaR
(5) . I TEl 3T AMES

XYz‘ABCQRsopMNJHI#-mus
ﬂﬂim%muﬁﬂaﬁm’nﬁqﬁ-ﬁaﬁﬁ
drau uzE FE-91 8 ?

6V
(2)

93.

94.

(@)

(3)
- (4)

- 1)

. (4)

Find the odd one out.

(1) Petal - Flower

(2) Finger - Hand

(8) Brick-Wall .

(4) Auditorium - Chair
(6) Not attempted

Select the combination of numbers so that the
letters arranged accordmgly will form a
meaningful word :

GNAE H R

1 2 38345 6.

53,21,4,6

5,3,1,2,6,4

3,5,6,2,4,1

5,3,1,2,4,6

Not attempted

(1)
(2)
(3)

(5)
‘ANGLES’ is related to ‘GNASEL’ in the same

" way as ‘SQUARE’ isrelated to _? .

(1)
(2)

UQSARE
USQERA
UQSREA
UQSERA

(5) Not attempted

‘BLUNT is related to ‘lBuTn’ in the same way as -
‘SHARP is related to ? .
PraHs
~ hSaPr
AhSpR
HspaR
Not attempted

(2)
(3)

(5)

XYZABCQRSOPMNJHI#+123845,
Which of the following is third to the right of the

" element which is exactly in the mlddle of the

given sequence ?

M N (1) N

@ J. @ J

(3 H 8 H-

4 M 4 M _

(5) e T T @ (5) Not attempted
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97. ﬁn%%amsjﬁmﬁ‘x'%mmﬁq-ﬂ
wE s ? '

© (1)
(2)
3)
(4)
(5)

98.

0,7, 26, X, 124, 215
65

62 -

63 .

60

I TE & =

ﬁ'ﬁqnﬁmﬁ:&:mﬂ'mmmmmm

TS g F A HR |

(1)
2)
@)
P
®)

99,

SUPERVISION
POISON
REVISIT
NERVOUS
RESIGN
I A€ &1 =R

o T T F R § | s e =i

T W A9 9gER F Fegare § A g W
R & S 8 1 38 5 9 F amm A srawEsar @
¥y Fr=fefaa @ 9.8 wiard w6 2 ‘

(1)
(2)

A 38 5 RA ¥ R P w3 |
a1 3% 5 ot % R Fen e g8 WA

- foro =@ |

(3)

(4)
(5)

oM I 5 T W waw srww IR IE
Tuferean sqg &1 oft yam #4 |

I 3] At A Freee & |

100, 'A’, ‘B, ‘C, ‘D, E a:ﬁ:pagmﬁai 1C’D & =@
R 1A wEd BT @ | B AR D WO Y F E |

BEAwGE | CFADTL  BPARIRE?

97.

- (5)

100.

. (2)
N G))

@
@

@

Which number will replace X’ in the given
pumerical series ? '
0,7, 26, X, 124, 216
65

62

63

60

Not attempted

(1)

(4)
(5)

Find out the word which can‘be formed by using

‘the letters of the given word.

SUPERVISION-
POISON
REVISIT -
NERVOUS
RESIGN

Not attempted

oy

(4)
(5)

You are the owner of a restaurant. One of your
delivery boys met with a minor accident while
rushing to deliver the food on time. He needs rest

.for 5 days. Which of the following actions you will

take ? B :

(1) You will suspend him for 5 days.

You will ask him to go on leave without pay.
for 5 days. _ _

(3)  You will give him paid leave for 5 days and
will also pay for medical expenses.

You will terminate him from the aervices.‘
Not attempted

(4)

A,B, ‘C, D', B’ and P are six persons. ‘C’ is
older than ‘D', ‘A’ is the youngest. ‘B’ and ‘D’ are
of equal age. B’ is older than ‘E’. ‘C’ is yoﬁngel'
than F’. Who are older than B’ ?

(1) calkE () CandE
(20 F3lRE 2 FandE
(3) FG’ﬂ_IC (3 FandC
4) CO3RD . (4) CandD
(5) I T T = () Not attempted
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